Solutions Assfimmew’}‘ 9 MATAZZ

@ E)f‘o\olew\s ’ﬁrowx Section l':l'céj

*2 L(x‘3)= Xt Ay —6 x tlby
The (only) CP

‘ﬁx (1.%);— 2¥-6b = 0 —+ xX=3 o-@ -p is
-2
‘p\} [Y-:Us): ?'3 +l6 =0 — ‘d—"—"'z. (3, ) 2

% Ll 20)e eyt gt wl(xey + 2 -3)
‘FX(X.Lﬁ,a,w): ¥+ w=0 — w"2x @
-Fﬂ(x,ti,z,w): 29+ W =0 — W=-24 @
\E_}[‘Fulj,i,u\): JZz tw =0 — w=pz @

P, vy 2,w)=  X+y+ 2-3 =0 @ 4)
Oo@ —+ y= -x O+@®— 2= x. Sobin @ toqer

S, Ahe (ow\aj) C?P o‘P '{i [N (l, 1, \,'2> @

¥8 Cxamine the fonchion Flry)= = 2x+ Bx -3y u2dy«?

Lor relative sfi.cv local) evirewa . z“d o : ,
Solution : | obtoiwn CP(s) o f D(‘mﬁ) =ﬂ¥1p‘%_ (‘an)
fy= ~ e+ 80— x=2 = (~4)-6) ~ 0
by = —by+ 24 =3

Y = Y+ 240~ Y=4 -, D(ra)vo 4 (34)=—4

<O

v CP is (2,4) /. . A
+he Ontvy 512 (1_,4’)‘t oﬁas\)/alf:& VE&?‘-\?f-(o\% 2



@

KB & vamine ’ﬁ(“)\ﬁ)=25‘z+ :f“jz'* 3ry ~ 10X~ Y t2
-Car /(oco.\ extremo .

S ol ﬁx(x,5\=4x+33 ~0=0 O
fyleylz 3y «3x =9 =0 @

O-@ —+ x-=1=0 sox=1, Subm@a% 2.
o odhe CP oof £ s (v, 2)

nol >
2 DT : D(ﬁulj)':—'ﬁx*(hkﬁ)%a(?‘dﬁ) -—[ﬁg(ns))

c@a(3) — 3% = 32

D(12)= 30 -@ (1,7,) 4 20

s -{: hees G r{:{m-’we yini wmumt ot (\'L) o'ﬁ'
Valu e $ivz) = —12- Z)

3
it)/L & vamine -C(‘ﬁ.\g)=2;- -(-\jL——Zvc—\—Zﬂ —Zxy foc

/(OCCLI —U;(Jff-QIMA.
Selubion ¢ £ (vy)= X* =2 —2y =0 @

-Clﬂ(mgb 24 42 - 2x =0 (@

(D - ‘23 = XFL”?_,_ gub‘ﬁm.s .?Y) @ +b a-Q:l'_
X"~ 2%x=0 — Xx=0o ¥x=2

IWhew =0, y= - — CP \5[0>"3
N hen X=2, Y= |l — CP is (2, )

v S
Fovr the 2 DT, D(x, Y) 'F (*"5 'C (*‘ —(‘ng’("i)}

oo CPg

}ﬁm



Dlxy)=(2%)2) — C2)T = Ax—4 ©

D(o,-)=z -4 <0 so -P has wo relatve exbremo.
ocF (0)-15. s 13 hms o saddle Eoivt"'@ (OJ-—I)

D(2,1)= 8-4=4%. £ _(2,1) =970
— —F has o \('-Q,\OL‘\"IV-Q minimum o (2&) O'r'
value -f»(a.\\. Z

—_—

‘-H’l/b Cxamine The Snclia -ﬁ(l)kﬁ Liak =40l for

Nocal  exirema .
Selution - g(x,ku 2L -4k =0 — Mes<
ﬁk(ﬂ, k) = 8k — 44 =0 — A=l
Cdhe CP's of £ occor et el paints of

-)’ke ‘pUYW‘ (23%)1) wk'e’r'e /{_6— R (m w‘:fre\';a:\f\iw\{

Same

Move fo the 2™ CPs )
DL k) ﬁ(u ﬁ (,o ) ——(ﬁ (1))

=-(2)(8 ~ (4)?— =0
.'-D(Uj;t) =0 ol every CP(Z;Q');Q’\‘

nd
' ’H\(’, 2 DT s ivnconclusive in d-e:ﬁxm\‘m

wheteer £ has any  exiremo- ot CP's
(24,4

R"W“O““k‘ We con make o CO\ML[US\OV\ oboout whr-ama.
of -ﬁ ot pis (1;3’1'3 using 4Lamw+urj adeselom,f




F&C}'orh\g qives -@(X) k) = ,Qék‘\\ﬁz-—A/UL @
= (-2) =
. «ﬁ(lj&i’)=0 5 S0 —C e 0 ot every Ce (2;61)

1 L42k, +hen (4 k) 70, This means +Hhat

L\as relohve win  value ot O ot -e\/ewﬁ CP

@&’,Sﬁ'\ (va —pac'\') 'p' onc:\'v(xuﬂ haeo olosolute
min value oL o ot every CP(,Z;@;—_@-)S. %

1&(/6. E\Aaw\ine “Fhe '(:uwc:tiovx '?(Xl\é)=(\('3)(\j~3)(y-e\3—5)
Lov  relative -evirema .
SeluHen : wc\‘(wg): (y-3X x+y-3) 4 (v-3)(y-3)=0
= (4-3X2x+y-6)= 0 ®

—ij (\é,\ﬁ) = (x—a)(wg-a)—t (Y—SYLA—?)} = 0
-—-(x—&fZg—t—Y-—é} = O @

We find all solubions do the system @ D .
In O, L y=3 , Hem @ lecomes,

(’“3[“\:0 S0 X= 3oe6rX=0 .
‘. this  analysis  sheuss (6,3) and (2.3) are

CPs of £, 50 F has two CPs se far.

Now Qssume in O +hat y =+3. We then hove
2\(-&\5 -6 =0 <o Y = —2%x 0 , Usm% @, r{’—
X=3, Jhem Y=0 so Hnis yields the CP(3,0).




Las+15m@) i'ﬁ X#3, Hhen Zgarx—(,zo @
So('.’ls:-'ZX-t'b)) —4$+l2+¥—¢;0
which Qives —23x +b =0 so x=2_ and Yy=2.
Joowe have He Linal CcP o (22).

(onclusion ts ot £ has foor  CP's
(oy3), (3,2), (3.0) , (22).

|
Next we  uvse Fhe 2 oY

| 2
Diny) = £,0y) { (rg) =[£19)]
= 20y-3) 2(x-3) — [ 2vey-c +(y-3)] T
z
= A(¥-3Xy-3) — [2x +2y-47]
(I—]— 'S o‘p no uvse o %f:ah(}( — |eave —(zo.c-HYeo”)
D(oizl =0 —94 <6 — 'p hes no extremon ot

(0:3), seo (6:3) is «
sa(id\e Fotn'\',

(32)= 0-94 <0 — £ hes  no extrema. ot

(%: 3) > *So (353) fs
ovoter  Soddle Potn’t.

D(3,0)= o—-—4 <0 — 1C hos wo extremo oot
(3,0) 5 So (3.0) 13

yet oo Hhird  saddle point.

D(2a)=4 - \= 370, ﬁ\“(z.z):-?, <o,
So —ﬁ has o Aocal wmaximem o (z‘:.) ot

value £(2,2). 2

—e




:&_Zﬁ Examine +he fonetion 'C(‘Ft\g)=ﬁh(¥tj)+2xz—¥5—-bx©

‘pw Noca\ extrewor .

SO‘(A."*OV\" 'F'X(K,gs):,li —\-4*»\4—@ = 0 O
ngfylﬁ):—é - X =0 @
From @ we have Thot x:.—g Bl J)(-;:j

gu\o%esew\@-\—og-e‘l’ \j'\'%-—ﬂ——é:—o
éi so the ov\lj CP of £is 2,3)
Strg)e (e Y dy) = 1 (gin i

o acal ‘h)
" Siaplify )

- \3>% So X=

3 2 _ B a o
'D(Eb'j) '(%)( %3 | = —9q<o0

'p' lﬂ&& wo extrema o\j\"( —z—) —3%) 20 ‘{"\AJ"— Fo'\
1S @ Sodd le POU\'\'— a-F—' -ﬁ

"‘:‘:22 Seluwhen s on page O %

:H?ka-e .Froﬁw'-l' per  pound oft A ts pA-—-DL
1\ n " " " 'B te F _ ,L
B
S otal Proﬁ;'\* ('er Senn‘nﬁ A anol B) 'S
P=lp-ajn, * (- kg
__(P 0\)[5(? P)]-F(P —L)[SDO‘I'S(‘F——ZFB)]
We now Lind +he CP/s) oﬂﬁ P,



EEA: S(p A) ~5(p,~a)«(P.-b)T @
—-B(ZPA—ZPB+\>~0L) = 0 D

%_;’B _ S(PA’Q) “« 5004—5[}34—-2%) .,_(—w)(PB~x>)
= 5(2p - Ap, 4+ 2b—a i) =0 @

From @ we gt QP ﬁzp +b—a=0 and

'prom@ we %_d’ ZPA—4PB+2!>~0¢+ oo =0 (3

gub'{"'o.c,’rmﬂ He battom equa-'-lon ‘F)TOM The +0P one
ﬂ‘V{’S 'FB — b — 180 =0 so PB = S0+ S_
Now subsﬁ-h)'h‘mﬂ this inb B gives

ZPA — 200 —2b +2p —a + 160 = O 5o

Z2p, ~100 ~a=0 hence p, = S0+ %

/. the crifica Fo‘u\'\’ fov P “5(50‘*2'9 20 E%.')
We use -Hmc 'l“d DT Jra mamne, extrema.
D(p,, pg )= (9 S
9PA 9\’3 9P, P
=(0)(-20) — = 100
s D(So+—5 So+ ) >0 QLP (50 50+ <0

(= to0) dpL (= ~w>



®

nol
JDJ The 2 DT, P has o veloatfive
a b
maxtmuw  (When PA: 50 + 3 enol PB.:— 50+Z

/\/\_0\:@'%0“/\ Pro(—'{*]* 'S P(SO{-%, So+é) a

#2¢ Soluken is on Po.qe/@
#34 Assome (@b 15 0 CP of o function z=Fxy)
onel all Q_Ml PM"{‘?&\ deriv'a‘\-'\\/-es 0‘(\' 'P OYe

Cow‘\‘ivxuous nNeoy (O)b')‘

7
Let 'D(x,g):-ﬁm(x‘g)%m(wg] ——(—Fxb(x,g))
onol  GssSuwae D(o,b) 70 .

® S £ @) <o 1HF L (a1) <0

7
Proot: * Dlo,b) Zo, 'Ew(a,\o) Fw (a,b) 7€M)
=20

o ﬁw(a,b)ﬁw(a,w >0
Twos, 4 '?H(a\\g) <0  Fhenm ﬁw(«a.\o) < 0 oo
The converce s T(:J-ewhca\-

(b) Show %*(0\\0) >0 \'”2 wc\w(aub\ 70

Preot Blj the sowme calewlation as in(a), we have
ot ﬂCH(ol,b)(f%(a.\o) >0

I-l- TS new clear \H'\UC\— -(\-Xy(&'b) Z0 "p'ﬁ
‘%B(D«,Q >0  as roquirfo{. 2=




#2(, Solution is on page @ @
@ Draw o -\—‘j?\‘cc"\ r-eo"‘aw%w\ar box -

X = \-er\cj'*’k
/I: ﬁ;} \3: w i okt
[ T f 2= herqht
‘X \/‘1\5]% 70

Foc the gl‘ir“r% we fequire Hhotl X« 2\3(—2%5—‘—(08
(we Con ¢ sShowld assume = 105 awd not < log

bzcause)-po( <03, a dimension con _a\uagc_gs
be iwnereased Yo wmake =108, angl Hherefore

Mcreas\nj ‘e \/OLUW\€) . We maximize The
volu wme V= %3—2—

So‘u’riem ; ,s'\' %-U" \/ 0s o -ﬁund:‘rom o-r' +wso

Variables only , \/((3,%),) by \—eH-ivxﬁ
Xz log — Z\j - 23,

..'* \/(tj,g—\:[lo&?—Qg -—Qz—)cj%
= 108y — 2y'z — 2322
Crihicol PoLN\"s)‘

\[ld[‘j,%)= log  — 4\3% —2z%2 =0 O

V, (4, 2)= 108y — 242 —4yz =0 @

'-'(j);_t?o, O —+ (08 — 4‘5 — J7 =0

S @ — 18 -2y ~ 42 =0

( . -—t: A& = (0% - 4!:1 . gObﬁ+UH6V\ tato
et eq= qives (0% - 2y - 2((0‘3 -~ 43) = 0



—~ o9 —(-éS:O — Y= (g% awnd
2=1% Yoo . [/, the owbj ce ot Vis (li?,l?)

Check 100\‘ MANTMY M US?ng 2'\4 DT ¢
A
Dly,2) = \(H“s'%) V. G2 ) —(\g%fa.ex)

= ("4%)(~45) — Qogﬂ43 —4%)L
‘v D013, 1) = (—72)2' = (—se)z 20
D \/W(la,te): - 72 <0
S Nt mavimtzed  when Y=z =%

and Xz 108 — 36-26 = 3C

Maximum volume s V(18,18 )= Ge)18)”
_-:.”366’4 CM3

7

@ GWQV\ ts The ‘Cumc'hoh -p[x,n);yz_\jz_,zx_(.éhj =y

@) AV\Q\j%‘\V\S He CP(s):
LX(\A,xj):Zx —2 =0 —b x=| ithe oi[j

CP of
fg(*‘%)='23*4;° — Y72 is(n2)

Dlxy)= £, by ) — (Feyry)) ™

= (2)(=2) = —4

oy .D(\H’—) = "'“{' y Seo H‘e 2'“0"DT sl«ouos W
£ has wo edrewma ot (0.2),



(b) We show -H\\o\:\’ -ﬁ hos wo <xtremos ot @
(l 2) Pu\(—ehj\ bxj &\g\abmc W\-G,'H\odsl/

Begin by ’p‘&cﬁrmﬁ ( ool completing the square )
Hhe Lonchion £
‘(: Wj)= Y- 2x ——(‘3?_"4‘3) A
X= 2% ) — (\31~A\j+4) 6 —\ + 4
= k-1 - (y-2)2 < 9

Plia)=a  IP yx2, bot y+2, Fhem
—F(I\ = = (y-2)%+9q =9 . This  means Fhere
are ?om“cs of the Form (\,\5) orloi '\-ran\\j

close +o (1) (bot a‘—(n,z)) Lo Wihiek
'p(l\‘g) < 9 . S ﬁ comnet have o min
ot (W2) . Siwilarly, £ ¥ =1, but x=£1,
-ﬁ(\mu: CK—\>Z-(—°1 29, So 10' connot have a
mox ot (12)., We conclude Thot ==
ho exdremor ot (u2) . %

I

@ -p(wﬁ) = x \34

o) _C)c(*%)_-, 4x>=p —b x=0 2o (o) Ts The
@5“:‘5) =Ay’=0 —> Y=0 ely CP ol

Dlvw) = ﬁm(w@fiw(mw G



®

lkd DT is inconclusive — H‘ -\-c\\s noHa V\j
Q\oo\)\’\' —e/\ﬁh-e/i/\/\a' U'P ’ﬂ OL:\' @to)'

D(ry) = (12%*Y12y?) so Deowo) =0

’

B We wote ot How) =0 and Fhat
\<4, xﬁ»o So P-(\c,us);xﬁtﬁ >0 . Stnce
Lrow)y=0 ond Fluy) 7o i (xy) #F(er0),
it followe “on:\"-ﬁ has o local, and -evem
o glolal , wintmum ot (o) of value o.

(.'- we O.vw«\%%wl “a,\li.e\dfot‘\Ca\\La" ) %

@, Le/"( -ﬁ(‘&(\j)z Yq-— (64
3 _ ;
0 folxy)=Ax>= 0 = x=0 .;Pikﬁﬂ'ronlt}oi?
-ﬁﬁ[mg);‘[\fso——» Y =0 B ‘
D(‘ﬁ\\a)= QZ\‘ZX lZ\jz’) <Se Dlewo) = O
: de?DT tells no‘\'cx‘iv\ooL obeut  whetor -f—
has oy extrema ook (o) .

(b)jc(o.o) = O 14 X %0 bot X =0, Heen

‘P‘(X)D): x4 70 # comnet have o loce|
YL OOR WU OC\'(0,0) Zwﬁ Yy xo lbut+ Y =0, ~H\.@\,\
—p(o,lﬁ) =—y*=0 /. £ cavnet Jave a min ofji'(o,o).

Lo P was o extremo oct(0,0) -



(4*-1) ®

@ é‘:i\/-&\/\ s 'p(’x,%): XL—- €

(471)
() —EX(%.%); 2% ’pg(x.g);e (z%)

For C?S) we Solve ‘!QX (xey) =0 'JCB (x.gs)———o
We oot e ?o{vd' (00) as The OWléi ce of F.

2 (¥F=1)
b) 3(“) :"p(*ﬂ‘)-: =€ ['- 3 - -A;Ac:‘-l‘ow
| (x%-1) of owne variolole
g(ﬁ)z 2x — e (27() ow%)
(%*-1)
= QK( | — e )

3{(*)30 ?’F\C X=0, 21 Thus cj hos Three
CPs = o, 1.

© T+ 35 edd ot £ (o Lonchon ot fwo
variables ) has  fewer  cnhcal Povvt*s
FHhon Cj (u\)\m“\c/k bs oo funeben o pwe

Voriakle "“’lj ) T4 may hove Seemed tvtyitHve
ot “mov’«e varobles! = "ymore cnitical
Fom«g'\ But (a) = (B shey His is

False .



[Sec;\"‘m« 3.6 ‘\*2—2_]

Qi\/eﬂ \ls "&"he 'P\)V\C"L'TGV\
Q= GQe)d)= 19c + 2060 ~2c —4d* — o

C =kO'P' Moufs ComPuWC Ts  Used
d= H# o{’— hov (5 coMFU'l-d DTS used

We mavimize Q

_So\u:"iovx" QC=_9_C_Q: \8 —<4e —d =0 (O
D¢

Q&;'Q—@: 20—-—&_._ -
d 8 c =0 @

®=‘> Cl.-_ ($—4c go‘oin@ +o 34:"
20 —g(1g=-4c) —¢c = 0
2\¢ -~ 12420 —> c=4 —d= 2

. the ow\\1 CP o Q TS Cc)d)=(4,7_).
‘D(C)O\)’— QCC(C)O\)@ACL(C\OQ) — [@c¢CC\d)JL
- [~af=3) — (=)t= 3150 ¥V (ad)

.. (a2 = -4 <0
CQ [ ma*imiieo( of dhe pant (‘\;?«)

(-vats s o relohive wavimum). The relakve
maximumt value s B (4,2)= 56. 7



(§ec+‘tbv\ \1. 6 #m @

We have loroolud's A—ay\d B.
Joivx'\" cost "FUV'\.C,HOVL 5 (= 2(%,4+%B + zﬁ ?B>

Demond  fonchions are %Az 0 = 284

4= 10— B,
?A’?B are  unit prices of A andB

FPy\D-p-\r-}- = Pcvem,(ﬁ—- Coq‘)‘
P= s TRis — ©

*‘:PA(ZD—Z.Pﬁ}—v fB(lo—— PB)
- Z{ZD—Z_?A + lo— PB —1——(2-0 _ZPAX IO‘—FB)]

Z Xpansion g Si w\\»@? 731 coHen a weg

L —

JF e B | i ——
S Py

.Q_?,-— — 4 - + 52=0 A—"®
,:__).PB PA PB

@’@"“b —Q'PB—(—D.—/O —> PB::é
Frome (D —APA — 24 +0L4 =0 —» Pﬂ: \ O



;. The ow\\1 cp O‘p % TS('O,G) @

_ 2 dp p\Z
Poer = gL 57 (3 )
P2 9%, %

= (’“AX—Z> — (—4)L = -3 4L 0

P dees mot hove any Aecod exiramec

ot e CP (lo,@) (Ol 3urprise§ .

Us‘mj on\y “the +eckn?ques d@v-e(o?zwf Yn MATA 3,
Wi Cowmo‘\" Souj -9/1(0.&(-’(\3 what e wmaximum

?mnﬁ%-(- s —Pw P,

Syt remorks ; T4+ Jorms ok Fhet P does

hove oo waximum, bot+ we do not @ir\ol ot
UStwoa, the ideas from MATAZZ . To gt o
b+ o—P i‘ns‘is\r‘r S to ubk\i P hoes a MOXT MU M

e Diregt Hot Pis a polymomial Tn Z-
variolles (Pﬁq— Pa) ¢ The dewmorn of P
is{(PA)PB> \ 0%p, £10 and Oi‘PB_élo}
(?ASlo Yo quarontee %A»o- Same  for PB)

_Dawxoc\uf\ 1S v Sguaxe ow\ol D s c:ov\-}—?nuous )
q

This will %Ua\(awl-uee o moximum for P g



LSGC'(?TOA l?é #5éj

Profit+  from s-el\‘.nf) T\/Ds 'S given  as

:}\A + ..4__g_.>....'x—
P= zoo (Z'E\C 5 +y J

(A\hef{’/ ’)C,kj o€ we-e.k\j do“auf €xp-@mii+ur-e5
oN  newspager, rodio odverHsing respectively.

( Xy 0 )
\/\/6 MAXIMIZe P

P - 500(4(2-&*)—%* >_ | = 0 s
: (2+v)* @
p\j: 360 (‘1(5»(3)—4*5)_,\ =0

(S—hﬁ)"

_ & 2

CD—b 4260 = (2—!-\&) @» (000 = <S+5)
,‘,X:—Z_i’yql’bg o ;.—sialé,ooo
= -2 ¢ |loday = -5 t 20415

Only Y= -2+ W4z %0 On\y Y= — S + 26415 30

¢

ve We have owlj ene (Te\evaw+ ) CP s

(\(1‘3): ("2.-(- IOW) "S-PZDEB

D(”f\(lj): DX* . ’Pﬂ‘*j S (PW(j)L PX
:<'_ %4OO>,(~ 12 600 )

(NO need Yo s MPXT% 0s we neeodl On\\j .e/valuo\)l_e_’:>

y = ©




D(-Z+ o4z, —S+ 204[73")
:(—%400 ,( — 120060 ~ 0
(10@)5> (;zoJTs'?’j
P (24 0437, = 5+ 20415 )

— ¥400

ek

<0

—
—

:. relotive woximumw Proﬁi-)— occurs when

= -2 « lodar ~ 62.8) cto“ows Per
(,\}{-Q‘C— on

adver Ks " .
%

4= =S+ acdis ~ F2.46




, | Lemgth =
@ /i _______ J s uﬁ%w = ; 7>OO

- 4 H{xﬁH:% > 0

(@) Totol Area > 12 = ¥y +2xz =+ Yz

2% 42
e |2 — %Xy
Volume V= Xﬂ'z = Xj

x+23

2.2
b V=i XY
2x+ 2y

= @

\/ sz _ 2*51)(&#*23) (\2*3—-3(1\5?' X2)
. C2%+23>L
24vy + 24y * - 4x 37———4x35 —~ 24%3 + 2x%y% = O

’

sz(\?,—-zﬁﬁj -ty =0 +— @

\/ . GZ$-2125/(2$+23)—(|2¥3 - x*y*)(2) _ ¢

3 (2¥+29)°
, A4 29y — APy —dxty® - 2d vy axiyi=o

(12 = 2¢y 4220 +—®



’1\370 5 D «C showy Fhot

12 - 2xy — X% =
|2 ~ o’luj—\ﬂzco

\AZ:LJZ se %=y

() W hewn ¥=tj . 12 -—-5\AL = O JA'Y‘M@(OV@)

PooxP2 4 o X = 2. cxm)t‘j:z,

Then 12 =4 « 42 42 so z=|

So  beconse a’.P He “Pk\{stcod notvure of He

Pro\o\w") mox valume s assumed

&vto) s V=@ = 4 md

©) \/: Ié*ﬂ - X \il From do) we have X =9
2%—(—2\3

| 3

4
/ Z‘ﬁl — K
. N= 12 = 3% —zx

< %

|
N ()= 3»53#— =0 = x=1f2

" X 70 y W€ onhé consicler Y= z2_.



y
By Hhe 27 pr (me MATAZZ )
l) b
\ (x)= —5334 se \V (2)= —3% £0

’ \/Ts (OLc,-l-UOL\l\ﬂ> Mmﬁm?b-ed (O(V\O(

o~ »

globoally ) when x=2.

Volome = A4 again. %4
Epoge ?ﬁS#%J
'F(Y\xj)L‘ QXZ 2k b\él-e C\L\j ——\A-t\j L\&s CL
~ol

Crifica)  point ot ('X.g)z[ou) and the 2
c:\ex‘\voc\—ive '\-es'\— 1S VT ncenclusive ot (0 )
W€, —QV\O‘ O)L),C )
Solubtisn ¢

‘(ZX (¥iy ) = Lax - cy —
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